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#lnclude “mypctl.h”
t?t main{int argc, char *argv[])
int 1;
int pid;
int status;
int childplid;
char *args[] = {"/bln/ls","-a" ,NULLY};
signal(SIGUSR1,{sighandler_t)sigcat);
pid=ferk();
if(pid<a) [/sHI

printf("Create Process fall!yn®);
exit(EXIT_FAILURE);

}
if(pid==0)
{

while(1)

{

pause();

childpid = fork();
if(childpid<a)

exlt{EXIT_FAILURE)};
Lf(childpid==0)
{

printf{"%d childpid will Running:\a" ,getpid
a1 H

NPT

status= execve(args[0],args, NULL);

]

else //father process

printf(“%\d I am parent process ¥d\n",getpld())
while(1)

sleep(3);

kill(pid ,SIGUSR1)

printf("%d parent sent signal:\n",getpid())
1

}

return EXIT_SUCCESS;

“IMypPoLLL ] IMdEenneg £ INypLLLIn
#include <sys/types.h>
#include <unistd.h>
#include <signal.h>
#include <stdio.h>
#include <stdlib.h>

typedef void(*sighandler_t)(int);
void sigcat(){
printf("%d Process continue\n",getpid());
1
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head = mypctl.h
srcs = mypctl.c
objs = mypctl.o

opts = -g -c
all: mypctl
pctl: 5{objs)

gcc $(objs) -o mypctl
pctl.o: $(srcs) S(head)

gcc S{opts) S(srcs)
clean:

rm mypctl *.o
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tang@tang-virtual-machine:~/ostest115 . /mypctl
B4066 I am parent process @
8406 parent sent signal:
B487 Process continue
8408 childpid will Running:
. .. makefile mypctl mypctl.c mypctl.h mypctl.o
8406 parent sent signal:
B487 Process continue
8411 childpid will Running:
makefile mypctl mypctl.c mypctl.h mypctl.o

8406 parent sent signal:

8487 Process continue

8412 childpid will Running:

. .. makefile mypctl mypctl.c mypctl.h mypctl.o
8406 parent sent signal:

8487 Process continue
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